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2006-07 District Competition

Match #14


These questions are for use in the Virginia High School League’s Scholastic Bowl District competition. Shawn Pickrell, Jason Mueller, Adam Fine and Dan Goff are the authors of these questions.

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
His power ended in 1954 after the Watkins Committee recommended censure, which the Senate did by a 67 to 22 vote. A famous episode of Edward Murrow’s See it Now and a crucial hearing with the Army were associated with the career of what Wisconsin Senator famous for accusing political opponents of being Communists? 

ANSWER: Joseph McCarthy
2.
When this English modal auxiliary verb is in the first person, it indicates the future indicative tense. When it is used for other people, however, it indicates the future imperative tense – as in, “You (BLANK) do your chores!” What helping verb is often associated with “will”? 

ANSWER: shall
3.
His Quintet, formed in 1955, featured Paul Chambers on double bass and John Coltrane on tenor saxophone.  That same year, he released the album ‘Round About Midnight, while in 1959 he released Sketches of Spain.  Name this great jazz trumpeter best known for the albums Kind of Blue and Bitches’ Brew.

ANSWER:  Miles Davis
4.
Give the shared last name. Virgil took over the town marshal position from Fred Sippy. Morgan was assassinated in March 1882, spurring a three-week vendetta launched by his brother against the Clanton family. Virgil, Morgan and his brother, Wyatt, were all members of what family associated with the Gunfight at the O.K. Corral?

ANSWER: Earp brothers

5.
Evidence of their existence comes from three jet events in particle accelerators.  Name these carriers of the color force that holds quarks together.

ANSWER:
gluons

6.
After the Pugachev rebellion, this Russian ruler quickly became more conservative. After overthrowing Peter III, attempts were made to put in place Enlightenment principles. Paul I was the successor of what Russian ruler that reigned between 1762 and 1796 as czarina? 

ANSWER: Catherine the Great or Catherine II of Russia
7.
Invented by Roy Plunkett in 1938, its official name is po-ly-te-tra-fluor-o-e-thy-lene.  Name this material of very low friction that is often used on cooking pans since things don’t stick to it.

ANSWER:
Teflon
8.
This first name comes to us from a place in the Old Testament that meant “forest” and gives itself to a plant mentioned in the Bible that many scholars think is a crocus. It appears in the name of the Joad family’s oldest daughter in The Grapes of Wrath. What name is also the last name of a former Israeli Prime Minister? 

ANSWER: Sharon

9.
They entered the league in 1969, the same year as the Seattle Pilots, San Diego Padres, and Kansas City Royals.  Named after a World’s Fair, they played in Olympic Stadium beginning in 1976; top players in their history included Gary Carter, Tim Raines, and Andre Dawson.  Identify this Canadian baseball franchise that moved to Washington D.C. in 2005.

ANSWER:  Montreal Expos (accept either) (prompt on “Washington Nationals” until “World’s Fair”, and do not accept “Washington Senators”)

10.
What trig ratio is equal to opposite side over adjacent side?

ANSWER:
tangent
11. 
Laika (LIE-kuh) was the first passenger in this program, and as the designers failed to accommodate the safe return of the craft, also the first casualty.  All five were launched by a vehicle originally designed to carry nuclear warheads.  What was this space program, begun in 1957, whose name translates in Russian as "satellite"?

ANSWER: Sputnik
12.
In the movie Dogma, Salma Hayek’s character Serendipity claims that this director sold his soul to make Home Alone one of the 20 highest grossing films of all time.  What writer and director of Planes, Trains and Automobiles is also responsible for 1980s classics such as Ferris Bueller’s Day Off and The Breakfast Club?

ANSWER:  John Hughes
13. 
He founded his theory on granite deposits he discovered in the Scottish Highlands, theorizing that the granite must have cooled from molten rock, as opposed to have precipitated from water.  Who wrote a two-volume Theory of the Earth and worked with John Playfair and Charles Lyell to found the theory of uniformitarianism?

ANSWER: James Hutton
14.
This poem’s last scene is in a Philadelphia charity hospital, where the title character has met her lover, Gabriel Lajeunesse (lah-ZHOO-ness), after she had spent years traveling across America looking for him. What Longfellow poem is set during the Great Expulsion of Acadians from Canada? 

ANSWER: Evangeline
15.
When they occur, human liability can still be assessed – such as against the designer of an unsafe dam or a camp counselor who allows campers to swim in a just-flooded river. What legal and insurance term applies to situations such as lightning or floods that are outside of any possible human control?

ANSWER: act of God or acts of God
Second period, 10 directed questions per team, 10 points each
Set A questions have an “A” after their number; set B questions have a “B.” 

1A.
Who led the Kuomingtang after the death of Sun Yat-sen and fled to Taiwan after the rest of China fell to the Communists under Mao Zedong? 

ANSWER: Chiang Kai-shek or Jiang Jieshi

1B.
What battle in the War of 1812 was fought, unknown to both sides, after the peace treaty had been signed?

ANSWER: Battle of New Orleans
2A.
A botanist and first American ambassador to Mexico is the namesake of what red flower that goes into bloom around Christmastime?

ANSWER: Poinsettia
2B.
What color light has the longest wavelength?

ANSWER:
red
3A.
It first appeared in the novel Lost Horizon. What harmonious Himalayan valley that had English-speaking monks and flush toilets is today a synonym for utopia? 

ANSWER: Shangri-La
3B.
What five-letter word meaning, “to make a smooth transition” or “to proceed without interruption,” comes to us from the Latin word for “to follow”?

ANSWER: segue (seh-GWAY)

4A.
Which Frenchman created paintings of water lilies at his garden in Giverny (zhee-VAIR-nee), as well as the work Impression: Sunrise, for which the Impressionist movement is named?

ANSWER:  Claude Monet (MOH-nay) (Do not accept “Manet”, that is a different artist.)

4B.
What man was killed by his twin brother Romulus when he mocked the height of the walls in the city that they founded?


ANSWER:  Remus
5A.
THIS IS A COMPUTATION QUESTION. Let A be equal to 26, B be equal to 25, C be equal to 24, and so on – all the way down to Z equals 1. What is the numerical value of F times R?

ANSWER:
189
5B.
THIS IS A COMPUTATION QUESTION.  The line x plus y equals 5 does NOT go through which quadrant?

ANSWER:
3
6A.
THIS IS A COMPUTATION QUESTION. What is the volume of a cone with a base radius of 5 feet and a height of 15 feet?

ANSWER:
125 pi cubic feet
6B.
What English poet, permanently stunted due to catching tuberculosis as a young man, is best-known for the mock epic The Rape of the Lock? 

ANSWER: Alexander Pope
7A.
Katrina was one of the five hurricanes whose names were “retired” from the 2005 Atlantic hurricane season. Name any two of the other four retired hurricane names.

ANSWER: Dennis, Rita, Stan and Wilma
7B.
The largest state capital in terms of population is what city in the Southwest? 

ANSWER: Phoenix, Arizona

8A.
What type of nerve cells have axons and dendrites?

ANSWER:
neurons

8B.
THIS IS A COMPUTATION QUESTION. What is the prime factorization of 561?

ANSWER:
3, 11, 17 (can be said in any order)

9A.
What dynasty ruled France between 987 and 1328?

ANSWER: Capet (kah-PAY) or Capetian (kuh-PEE-shun)

9B.
On what body part is a rhinoplasty performed?

ANSWER:
nose
10A.
In what short story by Shirley Jackson is the winner of the title contest put to death by stoning?

ANSWER: “The Lottery”
10B.
What band, whose members are of Armenian descent, released the paired albums Mesmerize and Hypnotize in 2005?

ANSWER: System of a Down
Third period, 15 toss-ups, 10 points each

1.
Typical flowers have six of these inside the perianth. More advanced flowers feature fewer, but are positioned so as to not reduce pollination’s effectiveness. A filament and an anther make up what male flower reproductive organ?

ANSWER:
stamen
2.
He is the most-cited living author in the Arts & Humanities Citation Index, due to scholarly works such as The Sound Pattern of English and Aspects of the Theory of Syntax. What MIT linguistics professor is also known for films such as Manufacturing Consent and for his criticisms of the US government?

ANSWER: Noam (NOH-um) Chomsky
3.
What poet wrote the lines, “Pile the bodies high at Austerlitz and Waterloo / Shovel them under and let me work / I am the grass; I cover all,” “The fog comes / on little cat feet” and “Hog butcher for the world / Tool maker, Stacker of Wheat” in his poems “Grass,” “Fog” and “Chicago”? 

ANSWER: Carl Sandburg
4.
This country is unusual in that it contains two other nations entirely within its borders – a “most serene” republic that did not join when it was created in 1862, and a nation that the Lateran Treaty created in 1929. What country’s 20 regions include Apulia, the Aosta Valley, Liguria, Piedmont, Calabria and Tuscany, contains San Marino and the Vatican City, and has a capital of Rome?

ANSWER: Italy
5.
This man, despite being able to leg lift 2000 pounds, has lost his re-election bid for the presidency of the National Religious Broadcasters. He ran for President in 1988 and is currently president of Regents University and the Virginia Beach-based Christian Broadcasting Network. Who came under fire this year for comments made on his 700 Club show regarding Hugo Chavez and Ariel Sharon?

ANSWER: Pat Robertson
6.
Matt Groening (gray-ning) has never confirmed that she was written out due to a dispute over money with the voice actress who played her. Wikipedia argues that Homer cannot be blamed for the incident, as he did find a bobby pin. Her ghost was summoned in Treehouse of Horror XIII, and her last appearance showed her looking down on her sons from Heaven.  What mother of Todd and Rod is the deceased wife of Ned Flanders?

ANSWER: Maude Flanders

7.
One character with this name was forced to marry Linton, but then fell in love with Hareton. What name is also the name of Edgar’s wife that is also Heathcliff’s beloved in the novel Wuthering Heights?

ANSWER: Catherine 
8.
For carbon dioxide, it’s at 5.2 atmospheres and minus 57 degrees Celsius.  For water, it’s at .006 atmospheres and .01 degrees Celsius.  Name this point at which vapor, liquid, and solid states of a substance are in equilibrium.

ANSWER:
triple point
9.
This playwright was elected as one of Athens’ ten generals in 441 BC, and showed his literary merit by winning twenty Festivals of Dionysus. His plays that survive in fragments include The Tracking Satyrs and The Progeny. What ancient Greek playwright also wrote Ajax, Electra and the three plays of the Oedipus cycle? 

ANSWER: Sophocles
10.
In 1800, they received one-fifth of the United States’ annual budget. When Jefferson stopped paying them, they declared war on the US, which ended in a US victory. They fought the US once again, and lost, in 1815. The phrase, “the shores of Tripoli,” refers to a battle fought against what group of North African pirates? 

ANSWER: Barbary Pirates (accept Barbary States)

11.
Service Release 2 of Windows 95 included its 32-bit version, which allowed a maximum file size of 4 gigabytes and partition sizes of 2 terabytes. Newer versions of Windows included the New Technology File System. Name this system used to organize data between the hard disk and the operating system, that despite its name, had problems with heavyweight files. 

ANSWER: File Allocation Table or FAT
12.
Before 1991, the symbol of Raelism (RAIL-iz-em) was a mix of this symbol and a swastika. Despite its name, it seems to have gotten widespread use only during the Renaissance, most infamously during Nazi rule, when a yellow badge of this symbol was used. The Israeli flag has in its center what symbol named for a Biblical king?

ANSWER: Star of David or Magen David (MAW-gayn DAW-veed) (accept “hexagram” or “Solomon’s seal”)

13.
It was founded in 330 AD and was nearly destroyed in the Nika riots of 532 AD. An Arab attack in 717 AD was repulsed, and it was sacked during the Fourth Crusade in 1204 before being conquered by the Ottomans in 1453. What city on the Bosporus Straits was the capital of the Byzantine Empire and is now called Istanbul?

ANSWER: Constantinople (prompt on “Istanbul” if said before it appears in the answer)

14.
THIS IS A COMPUTATION QUESTION.  A cargo container is 12 feet wide by 20 feet long by 9 feet high, and the ceiling and floor are covered in a protective coating. How many more square feet of protective coating would be needed to cover the inside of the container? 
ANSWER:
576 square feet (108 + 108 + 180 + 180)
15.
He has two brothers, D.B. and Allie, and two sisters, Viola and Phoebe. He has a disastrous date with an old girlfriend, Sally Hayes, and turns down the advances of a prostitute named Sunny and an old teacher, Mr. Antolini. What 16-year-old protagonist has been expelled from Pencey Prep before the start of the novel, The Catcher in the Rye? 

ANSWER: Holden Caulfield (prompt on partial answer)

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
Traders speaking this language influenced the spelling system used in Vietnamese. Its alphabet is noted by putting tildes over vowels that are nasalized. It influenced languages such as Galician and Ladino (lah-DEE-noh), which was spoken by Iberian Jews. What language is spoken in the region of Macao (mah-COW) and countries such as the Cape Verde Islands, Angola and Brazil, and in cities such as Lisbon?

ANSWER: Portuguese
2.
In an episode of That 70s Show, Fez plays this game by himself.  Rosario Dawson plays it with the Worm Guys in Men in Black 2, while Bill and Ted defeat the Grim Reaper in this game in order to save their souls.  Four colors are featured in what game where a spinner causes players to wrap around each other like a pretzel?

ANSWER:   Twister
3.
THIS IS A COMPUTATION QUESTION.  Even-numbered doubles occur if you throw a pair of twos, fours or sixes. On a pair of fair six-sided dice, what is the probability of throwing three consecutive even-numbered doubles?

ANSWER:
1/1728
4.
It was created in 1915 by a merger of the Revenue Cutter Service and the US Lifesaving Service, and it absorbed the US Lighthouse Service in 1939. During peacetime, it operates as part of the Department of Homeland Security, but during wartime, what smallest branch of the US Armed Services becomes part of the Navy? 

ANSWER: United States Coast Guard
5.
Discovered by John Bell Hatcher in 1888, it is the official state fossil of South Dakota. They had a “frill” on the back of their skulls, a single horn above their noses and a pair of yard-long horns above their eyes. Name this herbivorous dinosaur whose name is Greek for three-horned face.

ANSWER:
triceratops
All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

